
Securing cargo. We invented the concept.

80
31

31
 2

01
6-

11
-2

1

S-Series

Rakt fäste TU / Straight attachment TU

Part No. 803131



DescriptionBeskrivningPart No.QtyPos.
STRAIGHT ATTACHMENT TU S-SERIESFÄSTE RAKT UH TU S-SERIEN49043211
WASHER NORDLOCK NL14BRICKA NORDLOCK NL1421197122
SCREW M6S M14x40 FZBSKRUV M6S M14x40 FZB21110223
SCREW M6S M12x160 FZBSKRUV M6S M12x160 FZB21109924
WASHER BRB M12 FZBBRICKA BRB M12 FZB21190745
LOCKING NUT M12 FZBMUTTER LOC-K M12 FZB21185726

Securing cargo. We invented the concept.

80
31

31
 2

01
6-

11
-2

1

ExTe Fabriks AB, SE-820 41 Färila Sweden. Tel: +46 (0)651 175 00. Fax: +46 (0)651 175 03. E-mail: info@exte.se www.exte.se

Rakt fäste TU / Straight attachment TU 
Page 2 

4

5
1

6

3

Vikt / Weight: 1,8 Kg

100
68,5( )

130Nm

80Nm

60( )

175( )
135( )

(5
6)

(168)
(123)

2


